SASTTRE AR 107 £ ATIE B R INR AR
el a1 flAe X .85 &
Fp:l.t1EkAF 2. VEF B1EF

L ARIEE 4 T (A3 1 %) -
2.¥ 'éﬁd‘ﬁivé‘&?-ﬁ-%i7 ;5'+;J_-1E-':PP°
BAFEE L HEAE - 5048 > #3824 > £ 1004 » % 2B T A E 2+ FiFE > v A

R

pER A H ’%"&Ef%g—r‘ﬁ];gl&\o
R AT ET E IR 5 PG HE A FA A K 1
:'i l‘fig—%( ’ I;Uj’\—"F/K%\ 'T]ﬁr./,;\g{ 3 /,J\ 5 1 , f@]j—ri j‘?’]'—i'ﬁ N Q;: " };—L : ;\ﬁ;%’——%}z o

B TRR ok o
i 5.AFAEH G BB FUL AL ~ F
TRELPESF > BUFEE R
7% B o

7.4 GEPER 190 A 4d o

B EAL o
FHw o B AT EERGE > 00D RS

1K F P s KRB CiHan 22 58 2 4> 285 QL~Q2% Q3 PI1E B CpHon 2o 78 W&
B TIIRE?
(A) nQ1+nQ2-Q3 (B) nQ1+2nQ2-Q3 (C) Q3-nQ1-2nQ2 (D) nQ1+nQ2-Q3
2.7 Ffcit > K G ML A ?
(AR B3 f2 R MERROF A i‘ﬁ =
(B)? ¢ Flbcita A4 £ nFMP T BAS FE > LAMP L5
Clrx R AR g P ETHEEHH
D)e- v F > FLF REE MEF 2R
3. 2A25)t5B2(g) «»2ABsg) = MR F B F Ko sE gL B R A~ F A4 P
AE20s=15.0Kcal » 3% F fer# s % it AHygg e (kecal) & 5 % -~ 2
(A) 13.2 (B) 14.1 (C) 15.3 (D) 18.0
4. Bk AE - 20TCH -1.438 Kcal/mole » @ Cpqy # 18 cal/k-mole > Cp() 7 9 cal/k-mole -
P12 CpF o> ke H# (Keal/mole) 5 @
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